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Student’s Name ......ccceeevveveevccrcnnnnnee Roll No. .....ccceveeveerennannenee
Subject :- English Class:- 5
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Questionno. | 1 12 |3 |4 [5 |6 |7 [8 |9 |10 [11 [12|13 |14 |15

Marks obtd.

Ria has won a prize in story writing competition held in her school.
As a prize, she has got three story books. She is fond of books and she
has a mini library in her house. In her library she has seven story books,
three children magazines, two novels and a comic book. Now she is
planning to buy a book for art and craft. In the evening, she spends two
hours in her library.

Q 1. Which competition was held in the school?
1. story telling 2. handwriting
3. drawing 4. story writing

Q 2. How much time does she spend in her library?
1. an hour 2. two hours
3. three hours 4. half an hour

Q 3. What do you mean by the given statement?
She is fond of books.
1. She has found many books.
2. She does not like books.
3. She likes to read books.
4. She has many books.
Q 4. Choose the Verb.
1. mini 2. got 3. now 4, art
Q 5. Which of the following is not a pronoun?
1. she 2. his 3. has 4. her



Look at the picture and answer the following questions

Monday to Friday
9:00 am to 5:00pm

= Saturday

= oAl 10:00am to 2:00pm [}

Sunday Closed

Ticket 50Rs (On Saturday 30Rs)

Q6. The above poster is about a ..............
1. fair 2. park 3.z00 4. bank

Q7. On which day will the zoo remain closed?
1. Monday 2. Friday
3. Saturday 4. Sunday
Q8. At what time will the zoo open on Wednesday?
1. 10a.m. 2. 5p.m.
3. 2p.m. 4. 9a.m.
Q9. What will be the time to close on Saturday?
1. 5p.m. 2.10 a.m.
3. 2p.m. 4.9a.m.
Q10. On which day is the ticket less than the normal price?
1. Monday 2. Friday

3. Saturday 4. Sunday



Answer the following questions

Q 11. Choose the correct spelling
1.buttarfly 2. buttarfli 3. butterfly 4. buttarflly

Q12. Which of the following part of body is hidden in the grid?
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| v O|S |0
o >SS » o0

1. chin 2. tongue 3. teeth 4. nose
Q13. Choose the correct statement

1. It was very hot today.
2. ltis very hot today.

3. It were very hot today.
4. It are very hot today.

Q 14. Choose the correct option
rereeneeeees @F€ YyOU?
1. How 2. Where 3. Who 4. all of these
Q. 15. Choose the incorrect pair
1. sea —see 2. sail —sale

3. son —sun 4. week - weeks
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